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2. Find the equation of the straight line tangent to the curve y3 = x2 - 3y at
the point (2,1). > / js U
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3. Find the linear approximation L(x) of f{x) = 1 + 2tan x at x = 0.
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4. A cone has base of radius 3 in. and exact height of 4 in. If the radius is
known to within .1in., what is the approximate error in volume? [Hint: V =
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S. A 15 foot ladder is leaning against a wall. The top is sliding down at the
rate of 2 ft./min. when the top is 10 ft. above the ground. At that instant
how fast is the bottom of the ladder moving?
. %H o ol Yoo
@) | li
| ol & L et
\ N A Koz (S
E d '}{1‘»§~vf1"~3 [5'2“. —_— 2.5 O
{

- A dy =&
- %%.%{ﬁ °
asz) 9F + 20 (-2 = o

ax  ge 4 gy
[ R L



